Tableaux des Puissances de Dix (H)

Multipliez le nombre de la rangée par celui de la colonne.
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Tableaux des Puissances de Dix (H) Solutions

Multipliez le nombre de la rangée par celui de la colonne.

X 90 000 9000 0,9 0,09
76 6 840 000 684 000 68,4 6,84
39 3510000 351000 35,1 3,51
78 7020000 702 000 70,2 7,02
36 3240000 324 000 32,4 3,24
53 4770000 477 000 47,7 4,77
X 0,05 0,005 0,0005 0,5
66 3,3 0,33 0,033 33
37 1,85 0,185 0,0185 18,5
16 0,8 0,08 0,008 8
18 0,9 0,09 0,009 9
52 2,6 0,26 0,026 26
X 70 000 700 70 0,007
52 3 640 000 36 400 3 640 0,364
74 5180 000 51 800 5180 0,518
12 840 000 8400 840 0,084
92 6 440 000 64 400 6 440 0,644
30 2100000 21 000 2100 0,21
X 5000 0,0005 500 0,5
13 65 000 0,0065 6 500 6,5
28 140 000 0,014 14 000 14
78 390 000 0,039 39 000 39
3 15000 0,0015 1500 1,5
97 485 000 0,0485 48 500 48,5
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